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homework2.cpp

#include <stdio.h> Wi

A }nt main() M S gy h%ﬁ*@ ,?w&%wl&g Bouch
FILE *fout=fopen("log.out","w"); La
int i,3,k,%,y,2; ' ' fouwr by

bool yes=false;

for(j=0; j<6; ++3j)
Eor(k=0; k<15; ++k)

x=J; y=k;
yes=Talse;
Eor(1=1; 1<=90; ++1)
ig(i%6==j && 1%15==k)
yes=true;
z=1;
fprintf(fout, " (%d,%d) : x=%d\n",x,y,2);
break;

}

1
1f(lyes)
fprintf(fout," (%d,%d): no such x exists\n",x,y);

return O;
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: x=30

: no such X exists

: no such x exists

: x=18

: no such x exists

: no such x exists
X=6

no such x exists
no such x exists
X=24

: no such x exists
: no such x exists
: x=12

: no such x exists
! no such x exists

no such x exists

: x=1

: no such x exists
: no such x exists
: x=19

: no such x exists
: no such x exists
1 xX=7

no such x exists
no such x exists

: X=25
: no such x exists
: no such x exists
¢ x=13
: no such x exists

no such x exists

: no such x exists
: xX=2

: no such x exists
: no such x exists
: x=20

: no such x exists
: no such x exists
: x=8

: no such x exists
: no such x exists
T X=26

: no such x exists
2,13):
2,14):

no such x exists
x=14
x=15

: no such x exists
: ho such x exists
: x=3

: no such x exists
: no such x exists
» x=21

: no such x exists

no such x exists
X=9

: no such x exists
: no such x exists
1 x=27

: no such x exists
: no such x exists

no such x exists

: x=16 )
: no such X exists

Tog.out
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: no such x
: x=4

: no such
: ho such
T x=22

X X

no such x
no such x
¢ x=10

exists

exjsts
exists

exists
exists

: no such x exists
: no such x exists

1 x=28

. no such x exists

no such x

! no such x
: X=17

: no such
: no such
T X=5

X
X

! no such x
X

: no such

X=23
no such x

exjsts
exists

exists
exists

exjsts
exists

exists

: no such x exists

 x=11

: ho such x exists
! ho such x exists

: X=29




